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i A FI054-07 H 15 H EIDnA 5% 96 k> (BiiA)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]
IENE H R 10. 00| AHxf 450 4,500 1,944 1,786| 1,620
H X k¥ 15. 00 | ¥ 669 10,035 1,620 835 464
X 5D FiE 10. 00| AH%F 300 3,000| 1,404| 1,151 864
E 9 NAE 5 % 4. 00| AH%F 19 76| 3,883 3,769| 3,132
EN 0.20| fxt| 60| 21 | ol
H % & I 3. 00| FHxf 171 513| 2,030 1,723 1,566
H A [T 1. 00| FHxf 195 195 864 726 324
ENIEE .00 4% 50 75| 3,240 2,484 2,160
AN BN 5. 00| FH*} 253 1,265| 2,268 1, 892 1, 404
T g | o.40|fA%F| 1180 42| 13| 155 86
= G 4. 00 | FHxf 72 288 1,080 914 756
g OB | 400 faxr|  s20| o,116| 1,728| 1,371] 648
[N & I | 500 AR 48 240 1,944| 1,546 972
F g | 500\ fxt|  4z1] 2,105| 2,052| 1,650 1,080
- = 0. 15| FHx} 1,216 183 86 85 70
2RI S 10. 00| AHx*} 98 980 1,134
~T b=k e | 3. 00| FH%f 249 747| 2,592 2,168| 1,620
B pE | o.20fAxt| 15 3| 10| 40| 130
fRotE dbfmE | 0. 10| FHx*f 160 16 151 142 140
g % | 200 M| 25| 50| 2,592| 2,164| 864
H i (i 5. 00| FHxf 102 510 2,376 2,154 1,080
RERE £ Ig 10. 00 | AR} 40 400 2, 808
A—T 4 £ IH 10. 00| FA % 117 1,170 2,592 1, 760 1,188
£ A L 10. 00| AHxf 1,170 11,700 1,512 1,327 648
L&A £ B 10. 00| AH % 854 8,540| 1,080 986 702
P=—LF R £ B 4. 00| AH%F 323 1,292 1,296 912 648
Tayal— E % 5. 50| FHxf 25 138 2,916
L xon & A 4. 00 | FHxF 6 24 2, 484
AEHER w5 0. 10| #Hxf | 3,200 320 173 124 65
ZDEH £ ¥ 0. 20 [ #Hx} 1,410 282 86 50 1
LU E % 0. 20 | FH %} 300 60 92 70 10
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P g SR
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RHE A FI054£07 H 15 H eI Dt e/ 34 b (Biir)
i 4 JE Hh = Wae | %K F i fiE T fE g2y ]

PE i % 5. 00| FH%} 727 3,635 2,484 2,310 1, 944
GETE ool kx| 8| 32| 3,564| 3,470 3,456

FI =T KB 0. 30| FH%f 1,120 336 356 312 270
Eolg X K 0. 30 [ #H %} 80 24 432 405 378
B A — 3 [T 2. 00 | FH %} 24 48| 4,320 3,488] 2,700
% A4 0. 50 | FHxf 88 44 346 328 324
BBk AbiEiE 0. 20 | FH%f 600 120 486 422 324
T T A e 5. 00| FH*} 71 355| 3,078| 2,847 2,646
R el 16. 00 | ¥H%f 1, 627 26,032 4,320 3,387 1,728
NS YN ) 10. 00 | #H%f 79 790 3,240 2,461 1,296




